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O Eel=2EEZ2AHL=300m) 30,000,000& 30,000
O =A=2HBSS2IEEZAHL=220m)
20,000,000& 20,000
O AHEQHRUTHE & Z AHL=200m) 20,000,000& 20,000
O Jrs er A Y| Z AHL=200m) 30,000,000& 30,000
O XletZ=AHsZ2IHA 2 AHL=200m)
40,000,000& 40,000
O St LIRS 2T A2 AHL=120m)
30,000,000& 30,000
O $&orUTHZE A2 AHL=600m) 30,000,000& 30,000

_467_




S A

rar=inl;

M Forn) e
Sl KIGIHL AL CERE)
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
O HEOIES=ZEUIZAHL=100m)
20,000,000& 20,000
O AIOIEMOIS =2 EESAHL=100m)
20,000,000& 20,000
O BE OltY ==2X&Z2(L=15m)
20,000,000& 20,000
03 AIES0HdI 1,872 1,800 72
O SH=RI=JAALY 20|
260,000,000 *0.72% 1,872
AMEFU=RAMS 211,512 201,440 10,072
401 AIEHIZL 20| 211,512 201,440 10,072
01 Al&HI 210,000 200,000 10,000
O ZE0tSr 2 NI IS AHL=100m)
26,000,000& 26,000
O EottSti==2 FHISAHL=300m)
20,000,000& 20,000
O FH0tSHZIHE S AHL=100m)
20,000,000& 20,000
O SERAZHIEFHISAHL=60m)
30,000,000 30,000
O UHSHMOIB=2 2 2 &S AHL=30m)
15,000,000& 15,000
O WAL Z =2 HHISAHL=130m)
15,000,000& 15,000
O HAZZINEZHISAHL=100m)
24,000,000& 24,000
O REASZZH=2HHIS AHL=500m)
20,000,000 20,000
O BESHAEEEHUISAHL=40m)
20,000,000& 20,000
O A=Y Xs25 73 AHL=50m) 20,000,000& 20,000
03 AIES0HHI 1,512 1,440 72
O SFFLISAAL 2COHYI
210,000,000 *0.72% 1,512
ANEF0I=R ALY 312,232 302,160 10,072
401 AIEHIZL 2| 312,232 302,160 10,072
01 Al&HI 310,000 300,000 10,000
O HEerd L2 FHISAHL=250m)
35,000,000& 35,000
O 2SI EZ AHL=200m) 25,000,000& 25,000
O 2HNEHHISAHL=100m) 20,000,000& 20,000
O WSHIEEBISAHL=150m) 25,000,000& 25,000
O SENEEBISAHL=150m) 20,000,000 20,000
O HHSE=2 2 oH2 I EZ AHL=400m)
35,000,000 35,000

_468_




SN AL
ME: FofK| oH

Sl KIGIHL AL CERE)
SA - FHM .S (BH) - HRAY - BES Ol ko o H D=2
O sgor2 22 ZHISAHL=200m)
20,000,000& 20,000
O A SR L EZ AHL=200m)
30,000,000 30,000
O &YOSoRIEE RIS ANL=200m)
30,000, 000& 30,000
O diisdard2 TEZAHL=350m)
30,000, 000& 30,000
O 2zordeyis=2 FHISAHL=150m)
20,000,000& 20,000
O BrEoRILU =2 T AD AHL=250m)
20,000,000 20,000
03 Al S20HLI 2,232 2,160 72
O AE=0I=R3AANY 20|
310,000,000 *0.72% 2,232
S =0I=RALY 312,232 302,160 10,072
401 AlEHIZ 2| 312,232 302,160 10,072
01 Al&HI 310,000 300,000 10,000
O TEItSHRI =2 ZESAHL=300m)
30,000,000& 30,000
O AEAIEEBISAHL=100m) 30,000,000 30,000
O OI=0I=2H2=2 3813 AHL=100m)
15,000,000& 15,000
O HLUH0ISH2=2 3812 AHL=150m)
20,000,000& 20,000
O SAUHZ =2 FHHISAHL=250m)
20,000,000& 20,000
O S0HISHH2=23HIZ2AHL=250m)
20,000,000 20,000
O 2202223813 AHL=200m)
30,000,000 30,000
O L5otRAHXI =2 F IS AHL=200m)
20,000,000& 20,000
O AD|0IS8H2=2 3813 AHL=200m)
20,000,000& 20,000
O 220X U2 Z A2 AHL=200m)
20,000,000& 20,000
O 2SS sZ2EHIBAHL=200m)
20,000,000 20,000
O A0S H2=2 3813 AHL=300m)
25,000,000& 25,000
O IS s2 &2 AHL=200m)
20,000,000 20,000
O EZ0ISs2E &2 AHL=250m)
20,000,000& 20,000
03 Al S04 2,232 2,160 72

_469_




2A:
I‘iiH:
e

rar=inl;
FXI OHe
KISOHE A

M
]
r
0

P |

SA - F . CR(BH) - HRAY - BES Ofl At Gl aron C[ImE==T]
O oa=o=aANe 20l
310,000,000&*0.72% 2,232
AQHROI=RIALY 312,232 302,160 10,072
401 AIEHIZL 048I 312,232 302,160 10,072
01 AI&H| 310,000 300,000 0,000
O SCHOISbH42EHIZAHL=100m)
20,000,000& 20,000
O LS0IS=sZ2EHEISAH1IHL) 25,000,000& 25,000
O dlIotOtSH==2 FHISAHL=250m)
25,000,000& 25,000
O or=0ISHH2=2 3|12 AHL=250m)
30,000,000& 30,000
O OIS HEEHIZAHL=250)
40,000,002 40,000
O 2UL0ISQZFHITAL=200n) 30,000,008 30,000
O 4SS E &S AHL=220m)
30,000,000& 30,000
O LHDOHS F2I=H = B AH(L=400m)
40,000,000 40,000
O 202428 =I|3 AHL=100m)
20,000, 0002 20,000
O EoIOS b2 HUIBAHL=100m)
20,000, 0002 20,000
O EE0ISS2EHITAHL=200n)
30,000,000& 30,000
3 AIE 201 2,232 2,160 72
O AlorplsiAl SOyl
310,000,000&*0.72% 2,232
MUlZFoISRAAY 211,512 201,440 10,072
401 AIEBILSOHY| 211,512 201,440 10,072
01 Al&HI 210,000 200,000 10,000
O SH=ZEZESAHL=250m) 30,000,000& 30,000
O IHOIS 242 FHIB AHL=100m)
30,000,000& 30,000
O MOHADZABAIIHL) 40,000,002 40,000
O Q2IB0ISTYAZ TR AHL=400n)
30,000,000& 30,000
O SHSH>2LEESAHL=150m)
30,000,000& 30,000
O =2 E LS AHL=250m) 25,000,000& 25,000
O L2242 HHIBAHL=200m)
25,000,000& 25,000
03 AIES20HHI 1,512 1,440 72
O MBlZ=eI=IA 2Oyl
210,000,000 *0.72% 1,512

- 470 -




S A

X ZH -
o= -

rar=inl;

F X N

SRl RISINE AR CERE)
_ _ - mNET
S EH - SR(H) - ITAIR - B e e MinE=)
AMSFOI=AAAS 261,872 251,800 10,072
401 AlEHIZL 20| 261,872 251,800 10,072
01 Al&H| 260,000 250,000 10,000
O 0l 0i2=s23 8IS AHL=350m)
40,000,000& 40,000
O H20ISHIEEHIZSAHL=200m)
35,000,000 35,000
O S=0I2s2 3813 AHL=300m)
30,000,000 30,000
O FHOISMEEBIBAHL=80m) 30,000,000& 30,000
O SAL20|0ISE U =2 A H| 2 AHL=400m)
40,000,000& 40,000
O & 0ISX Y 2 FHIZ AHL=350m)
35,000,000 35,000
O 2EOISX Y ZFHIZ AHL=200m)
30,000,000 30,000
O HXIOISsZ23 813 AHL=200m)
20,000,000& 20,000
03 AIE 20| 1,872 1,800 72
O ASF0I=JAAY 200
260,000,000 *0.72% 1,872
C2AHEANS 7,480,905 6,074,043 1,406,862
Xl 370,000
= 7,110,905
T AHEAMSY 740,000 200,000 540,000
Xl 370,000
= 370,000
QS 2L AL 600,000 200,000 400,000
Xl 300,000
= 300,000
401 AlEHIL 201 600,000 200,000 400,000
Xl 300,000
= 300,000
01 Al&HI 595,680 198,560 397,120
O/ =22 Z I AFZ (L=0.8km)
595,680,000& 595,680
Xl 300,000
= 295,680
03 AIE£0iHI 4,320 1,440 2,880
OAEE=RRNEAS A E20HE]
600,000,000 * 0.72% 4,320
HEI0IESAYINEAS 60,000 0 60,000
Xl 30,000
= 30,000
401 AlEHIYL 200 60,000 0 60,000
Xl 30,000

- 471 -




S A

rar=inl;

XN C2HMAY
Che: C2AHEAIY CERE)
el —
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH ‘Oﬂ/'q_ou Hlns2
= 30,000
01 Al&H| 60,000 0 60,000
O HRI0IESTREIMSAIS (AA=D)
60,000,000 60,000
Xl 30,000
= 30,000
OEI0|HMHANE QIT 2RI ALY 80,000 0 80,000
Xl 40,000
= 40,000
401 AIEHIYL 200 80,000 0 80,000
Xl 40,000
= 40,000
01 Al&HI 80,000 0 80,000
O O2loI23a32Y CCTV EXI(AIQED, Tatx
w, SH=ED, MExN) 80,000,000& 80,000
Xl 40,000
= 40,000
SHECSHEHIAIE 2,006, 120 1,500,000 506, 120
SHEZZ FHUIAIY 2,006, 120 1,500,000 506, 120
401 AIEHIZL 20| 2,006, 120 1,500,000 506, 120
01 Al&H| 2,000,000 1,492,080 507,920
O s~z SZEZAHL=0.596kn)
600,000,000& 600,000
O gsiiglez SLEAZANL=0.756kn)
300,000,000& 300,000
O IIEBMHelHEUTZ SIRBANL=0.987
km) 230,000,000& 230,000
O HHZAME 222 M2 AHL=0.3km)
70,000,000& 70,000
O 2e~3222t=2 HHIZAHL=0.55km)
100,000,000 100,000
O AO~F0RIE=Z2 S EZAHL=0.345km)
350,000,000& 350,000
O Wa~Holt=2 S EZAHL=1.7km)
50,000,000 50,000
O ARz SIIAZANL=0.7kn)
300,000,000& 300,000
03 AIE2UiHI 6,120 7,920 1,800
O sHEZZEUIAIY 20|
1,700,000, 000& *0.36% 6,120
ZE=EHIAY 2,860,260 2,850,000 10,260
2T AHIAMY 2,860,260 2,850,000 10,260
401 AlEHIL 200 2,860,260 2,850,000 10,260
01 Al&H| 2,850,000 2,835,240 14,760

- 472 -




SA: AL
IﬁiH: Eijl_-{/é-‘/\l.%-l
el 2ERUIAY (Sr9): 1)
. _ AT
LA - B - SIH) - HIRAY - BES Ofl &tk Ol Aro HwE2
O 28-AEHICE SLBBAI 22 7(L=1.08
3m) 500,000,002 500,000
O W4-H2AE2 SHTEBAHL=1.8kn)
1,200,000, 0002 1,200,000
O 2ANYTZ HTEHBAHL=0.85kn)
500,000,0002! 500,000
O 2E95d HeEY Y S2HHIBAHL6.78
km) 400,000,0002! 400,000
O 2854 XHELDINT BHBLBANL0. 1
2km) 100,000, 0002 100,000
O LF-SH T2 TRIBAHL=1. k)
150,000, 0002 150,000
03 Al CHY| 10,260 14,760 £4,500
O 2THUIAY 20|
2,850,000, 00021+0.36% 0,260
WIIEE JIEHE 2 AN 1,785,786 1,433,604 362, 182
TEAL FOISAAY 570,000 390,000 180,000
401 AlZEI LS TH] 570,000 390,000 180,000
01 A&t 570,000 390,000 80,000
O 2=0ISDTHIHIBAHL=0. 12kn)
190,000, 0002 190,000
O MZELHOIS MY 2HHIBAHL=1.0kn)
100,000, 0002 100,000
O EESE2 ISUTALIBAHGIHA)
50,000,002 50,000
O ENEESMIZY UE-HEY O220M
I EHZAL=1.5km) 100,000, 0002 100,000
O BORIIBIER STEBAHL=0.07kn)
70,000,0002! 70,000
O 4loh DAL S2YP =3t
60,000,002 60,000
DI 483,456 382,736 100,720
401 AlEBILSCHY| 483,456 382,736 100,720
01 AIZE] 480,000 380,000 100,000
O DYYLHAIIES(NSR5HD)
80,000,002 80,000
O DYBLZAHHEDL1HR)
400,000,0002! 400,000
03 Al CHH| 3,456 2,736 720
O A&l 480,000, 00021+0.72/100 3,456
SRR 732,330 660,863 71,462
201 Br2Y| 12,470 11,980 490
01 AFR22IH] 2,450 1,960 490
O BHI(E2YLEX) 7,0002+501+702! 2,450

- 473 -




M AL
B C2AMAY
Rl WEIES JIEIE2AY (e ®d)
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
02 2323l 10,020 10,020 0
O &2z MIIe3 10,020
0 =228 ®IILZ(CCTV)
700,000&*12& 8,400
0 E223 1 HIIR=s
45,0003+3=+128 1,620
401 AlEHIZL 048I 719,860 648,888 70,972
01 Al&HI 715,000 645,000 70,000
O 25,58 RNE= 120,000,000& 120,000
O 2&, 585 M 120,000,000& 120,000
O £2Y¥ 24Dl & 100,000,000 100,000
O EZTHHAEXIE = 100,000,000 100,000
O N2 YUS2Eiel B2AMY
100,000,000 100,000
O EZAEISZEHI 50,000,000& 50,000
O T22e|& CCTV wHI(34) 30,000,000& 30,000
O E2&els TV K2+ 15,000,000& 15,000
O DI=2EX B4&= K= 80,000,000& 80,000
03 AIES20HHI 4,860 3,888 gre
O EZRRZelAr AlIZL0HH]
675,000,000 *0.72% 4,860
CRALAMNARS 88,739 90,439 A1,700
SE2ERTE 88,739 90,439 A1,700
101 @1244| 9,240 9,240 0
04 JIZtHI2 2R S E+ 9,240 9,240 0
OS2 WSS TARRY 77,0003 %6022 9,240
201 Ler2ZH| 22,819 22,819 0
01 At22teld| 7,330 7,330 0
Ogt+2H| 5,370
0.E28+3 FH|I72 40,0002 1421x2F 1,120
0.0IFDI=H 80,0002 *9CH*33] 2,160
0.0 27 4,000 *4007H4 1,600
0.0IFII & M) 35,0003 *14%f 490
O SH(=284d) 7,000&x1421%20 1,960
02 S=23| 15,489 15,489 0
OXteHdeiy| 12,384
0.40ol1tH= EY SR
1,720 %40 £ *60CH*33] 12,384
OAEEHIR X 3,105
0.0 27 8,000 *20=+10CH 1,600
0.012 REFL
1,7202%1.25 £ »10CH*703] 1,505

- 474 -




SN 28D
Ha: C2ALAY
ool CEAMAYSY (ol &)
. , - PSEL= =
A - 33 - SRA(3A) - 2N - BYS Ofl koK Ol] AkoH Husz
202 o4 9,000 7,200 1,800
01 ZLHOHI 9,000 7,200 1,800
O=2LL+30{H| 150, 0008 +501+ 128 9,000
206 2] 22,700 22,700 0
01 =] 22,700 22,700 0
OYYA DI 7Y 3002 * 7,0000H 2,100
OetAl Rl P 10, 00024+700m 7,000
OLBUIR AB2a2Y 9,700 « 1,002 9,700
OZ3s= P2 (120 30ke)
13,0002 * 300ZLH 3,900
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IS RN ESAI (40422 GHE22) 250,000 300,000 250,000
2 250,000
401 AlEHI LY 250,000 300,000 50,000
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2 250,000
XI5 AlEEHIALY 752,700 400,000 352,700
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OE &L (AI2I~ZEH) SChel EXISA
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o MS X+ 1,300,000 +6& 7,800
o HIZXIF 800,000 +6& 4,800
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OsgllgdR+a 2 SH0H|
150,000&x321% 123 5,400
405 THAEE SHI 21,450 21,450 0
01 XA =2 SHSHI 21,450 21,450 0
OURISXE 22T] F 650,000 & *22CH 14,300
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i 12,500
01 Al&HI 125,000 148,920 A23,920
Oath 23X 7 LI BIAIS (A=78ha)
125,000,000& 125,000
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5,000,000 %1174 55,000
IBARX HEHSA 100,000 0 100,000
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5,000,000 20424 10,000
0 LR USUSSEFSA
8,000,000 *3)H 24 24,000
0 2= S 3,000,000 3,000
0 nSAX WSt XI&AE 42,000
o HNE Y 20,0002 *1,2000H 24,000
o Ofz X&0l +# 15,0003 1,200H 18,000
S AME XA 5,010,194 4,818,035 192,159
= 36,000
= 363,649
[ia 4,610,545
HUHXIARDHEN G E=RREXS 3,900,000 3,900,000 0
307 glztolA 3,900,000 3,900,000 0
09 2+=gHEXS 3,900,000 3,900,000 0
OUUXIMAIEAN O ERFREXRS(HA+SIS+
SIND 3,900,000,000& 3,900,000
S EAPAD 648,940 590,000 58,940
= 214, 150
= 434,790
307 gzl 648,940 590,000 58,940
= 214,150
= 434,790
09 2x=ZAHEES 648,940 590,000 58,940
OglldEd2a=s 648,940,000 648,940
= 214, 150
o 434,790
&OHHA THEXIA 20,000 15,000 5,000
307 glztolA 20,000 15,000 5,000
09 2=ZAHEES 20,000 15,000 5,000
ORZ-MEDH AOHHA SATRD
20,000,000 20,000
HASSAMSHEXE 269,842 269,842 0
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2AM HED
S nEEA A
o 2AHAME XA (CH9): HSl)
_ ) _ PSIEY=
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH loﬂ/'\_;ou Hlus2
== 134,921
o 134,921
307 2IZt01A 269,842 269,842 0
& 134,921
= 134,921
09 24gHEXZ 269,842 269,842 0
O sHEHAEH MEXIRAZ 269,842,000 269,842
& 134,921
o 134,921
HIES DNSSXA 24,552 30,927 6,375
T 6,678
o 17,874
101 2124d| 24,552 30,927 16,375
< 6,678
iy 17,874
04 J1ZtHI2E2XsEx 24,552 30,927 6,375
O8N WSEAARA 2124H|
44 6403 x5521x52%23| 24,552
= 6,678
o 17,874
SHALSX L 120,000 0 120,000
= 36,000
= 84,000
405 KHaHEISHI 120,000 0 120,000
= 36,000
o 84,000
01 T =SEFHSHI 120,000 0 120,000
OZ2gHA =&xE 2 60,000,000 =2CH 120,000
= 36,000
iy 84,000
HAWMEIIE £42 XX 3,800 1,206 2,594
T 1,900
= 1,900
307 2IZt0IA 3,800 1,206 2,594
o= 1,900
= 1,900
09 24gHEXZ 3,800 1,206 2,594
OsHE WEIIE SAXRAY =2 X
3,800,000& 3,800
o= 1,900
= 1,900
ZLHHA THE X 11,060 11,060 0
402 QI2FRHE0|H 11,060 11,060 0
01 DIZFAIEAIEE X 11,060 11,060 0
O AE~ A2 22U A S=AXIR2(7. 14Km)
11,060,000& 11,060
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L E%@i@ M
o 2AHAME XA CERE)
_ ) _ PSIEY=
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH loﬂ/'\_;ou Hlus2
SOHE Q280 & NsSotE 435 K& 12,000 12,000
= 6,000
= 6,000
307 2I2t01A 12,000 12,000
o= 6,000
= 6,000
09 2+EHEES 12,000 12,000
Os0E =280 2 nESite 43 N
1,000,000& %12 12,000
o= 6,000
= 6,000
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